
Math 5b: Classwork 25
Homework #25 is due May 6-th.

Review Exponents Properties/Rules:

1. ܽ଴ = 1
2. ܽ௠ ∙ ܽ௡ = ܽ௠ା௡

3. ܽ௠ ÷ ܽ௡ = ௔೘

௔೙
= ܽ௠ି௡

4. (ܾܽ)௡ = ܽ௡ ∙ ܾ௡

5. ቀ௔
௕
ቁ
௡

= ௔೙

௕೙

6. ܽ௡ = ଵ
௔ష೙

7. (ܽ௠)௡ = ܽ௠∙௡

Recall: Square root of ܽ (denoted √ܽ  is a number whose square is equal to a. For
example: square root of 25 is 5, because 52 = 25.
We discussed that

Square roots naturally appear in geometry:
Pythagorean Theorem: In a right triangle with legs a, b and hypotenuse c, one has

࢈ࢇ√ = ࢇ√ ∙ ࢈√

	ࢇ√ + 	࢈	 ≠ ࢇ√ + ࢈√

૛ࢇ + ૛࢈ = ૛    orࢉ ࢉ = ඥࢇ૛ + ૛࢈
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1. Simplify:

(a) ቀହ௔
మ௕ఱ

ସ௔య௕య
ቁ
ଷ

= (b) ൫22ݖ ∙ 3ݖ3 ∙ ൯ଶݖ = (c)
(ି௔௕)ఴ

(௔௕)మ =

(d) ቀଷ௔௕
య

ଵହ௕
ቁ
ଶ
∙ ଻ହ௖
௔మ௕ల

= (d) ቀଷ௔
ఱ௕మ

ଶଵ௔௕
ቁ
ଶ
∙ ଻ర

௔భల௕మ
=

2. Solve equations:
a) ݔ7 = 2 b) ݔ12 = 6 c) ݔ7 = 14 d) ݔ21 = 7

e) ଷ
଼
ݔ = ଵ

ଷ
f)
ଵଵ
ଵଵଷ

ݔ = ଵଶଵ
ଷ

g)ଷ
ସ

ݔ) + 8) = 10 h) ଵ
ଶ

ݔ) + 1) = ݔ − 3

i) ଵ
ଶ
ݔ + ଵ

ଷ
ݔ = ݔ − ଵ

ଵଶ
j)
ଷ௫ାଶ௔
ଶ௔ିହ௫

= −1

3. Open parenthesis, simplify:

3ܽ(ܾ + ܽܿ) − ܿ(3ܽଶ − 2) + 2ܾܽ =

2ܽ(2ܽ − 3) − 3(2ܽ + 3) =

(2ܽ − 3)(2ܽ + 3) =

4. Simplify

ට 42

510 = √12 =

5. Find legs….

Find the length of legs, if
hypotenuse is 10?


